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�U\1 X�Ct\ �"@1 1 6+�#��( 6�<��0,���#0 
Central Area �?���	 ����)6A/��(
Middle Area ���=� ���� Alternatives 

Informal Area$=(�N ��������#1� 1 60 

:;(�) :<�
��9�
Y9-BC-(<)��YR
�	 @� 7�
1 M
�Z[�(

)�>�^�01 Y=n-	�� 6�<$("G F�=� �@1+ X�^��W� [�|�0 1 &��W�Q�-9 �� �<(

�� &J( $7N�� 2�0 �� Z,� �#�#0 1 6��E<0� 3?� ��=% .[�|�0 $� $7N�� 2�0 ��
�� �@1+ X�^��W�Y�+0��� .F. +0 ��"� s,< �#��� 60�� ��=C� $("G O� ��-	 $B �@

$("G $^��W� p�  Y��0� V=W;	�(0� Y=<0"?� $7N�� 2�0 �� 0� �< .�Q�-9 X�^��W� �41
$("G F1��$-�A% 1 �<�(0� Y=<0"G 0� �< .$� 60�� �@1+ $^��W� p��	�� O� �|-�0 ��
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�(0� Y=<0"G V=W;	 �� $x0�0 ��"� ��=C�)!��8( Z1,@i.(p��	�� !,( A�)���� F"�# 
�� ��B $� $("G ���D F0"-9 $�  !,( A�)���� ��9�# �1� +0 $B &Q�N +0 $B  �1�

F1+"��� p��	�� �� &Q�N A�)���� F"�# 2�0 f�j7Q�N��F1+"� p��	��  �a$� �� �#�,�..

}$("G F1�� �Q�-9 $^��W� �� �>�^�01 �9"� 60�0� �Q�-9 2�0 $B �|�. +0 �< 6�<
�� A=� ��1���� $B ,-(��$� ,�0"	 �� 0�4  ,��0�% �=ST	 $4T^� s,< �� Y=W�^��=� X�"Q

$("G F1�� �Q�-9 �@1+ X�^��W�O� ��^��� �< K"� 2�0 �>��]� $B �@1+ X�^��W� 6�#
g�E	�0�"8� :�;4 A=� 0� ,(�� .�<��=C� +0 [0,B �< 1  Y��0� $("G 2�0 �� ��=C� $� $B �|�. +0

$� �"GZ��-B F0"-9�� �"n-� �% ,<�( p�  ,�"(��@1+ $^��W� p��	�� h×hY=<0"G 
�"� .&B �� 2�0���-��I�(0� Y=<0"G �@1+ $^��W� Z0"# .p��	�� 2�0 A�)���� F"�# �0,90 

"�# �4�\ ��F# �	 Y|-� 6�<=$� F1+"��� p��	�� ��0 Y<�A�� !��� ��B�"( .�0,90 r~��
�-C� F1+"��� p��	�� Y<� F"�# �� ��+ p��	�� A�)���� F"�# )D1 (�#0 !,<�]� &��\.

*!�+)\(���"# �
3�
�P� �+!@ %)�
&� ]��I
� 

Goal D1 D2 D3 D4 D5 D6 D7 D8 D9 Normalize 
D1 1.000 4.000 0.500 3.000 4.000 5.000 2.000 4.000 1.000 0.191 

D2 0.250 1.000 0.333 1.000 1.000 3.000 0.500 3.000 0.333 0.072 

D3 2.000 3.000 1.000 3.000 5.000 7.000 2.000 6.000 2.000 0.256 

D4 0.333 1.000 0.333 1.000 1.000 4.000 1.000 2.000 0.333 0.079 

D5 0.250 1.000 0.200 1.000 1.000 2.000 0.333 1.000 0.333 0.054 

D6 0.200 0.333 0.143 0.250 0.500 1.000 0.333 1.000 0.200 0.031 

D7 0.500 2.000 0.500 1.000 3.000 3.000 1.000 3.000 1.000 0.118 

D8 0.250 0.333 0.167 0.500 1.000 1.000 0.333 1.000 0.333 0.040 

D9 1.000 3.000 0.500 3.000 3.000 5.000 1.000 3.000 1.000 0.160 

CR={0.023076}

*!�+)^(�Y���� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I)D1(
D1 D2 D3 D4 D5 D6 D7 D8 D9 Normalize 
D2 1.000 0.500 0.500 2.000 3.000 0.333 0.500 1.000 0.090 

D3 2.000 1.000 3.000 4.000 3.000 2.000 2.000 4.000 0.265 

D4 2.000 0.333 1.000 4.000 3.000 0.500 1.000 2.000 0.140 

D5 0.500 0.250 0.250 1.000 1.667 0.333 1.000 0.500 0.059 

16- Unweighted 
17- Weighted 
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D6 0.333 0.333 0.333 0.600 1.000 0.333 0.333 0.333 0.045 

D7 3.000 0.500 2.000 3.000 3.000 1.000 2.000 2.000 0.189 

D8 2.000 0.500 1.000 1.000 3.000 0.500 1.000 0.500 0.106 

D9 1.000 0.250 0.500 2.000 3.000 0.500 2.000 1.000 0.105 

CR={0.049406}
*!�+)`(�Y���� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I )D2(

D2 D1 D3 D4 D5 D6 D7 D8 D9 Normalize 
D1 1.000 0.500 1.000 3.000 4.000 2.000 2.000 3.000 0.178 

D3 2.000 1.000 4.000 5.000 5.000 4.000 4.000 3.000 0.318 

D4 1.000 0.250 1.000 1.000 2.000 2.000 2.000 1.000 0.113 

D5 0.333 0.200 1.000 1.000 2.000 3.000 0.500 0.500 0.080 

D6 0.250 0.200 0.500 0.500 1.000 0.500 0.333 0.500 0.043 

D7 0.500 0.250 0.500 0.333 2.000 1.000 0.333 0.500 0.057 

D8 0.500 0.250 0.500 2.000 3.000 3.000 1.000 0.500 0.099 

D9 0.333 0.333 1.000 2.000 2.000 2.000 2.000 1.000 0.112 

CR={0.049545}
*!�+)a(�Y���� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I )D3(

D3 D1 D2 D4 D5 D6 D7 D8 D9 Normalize 
D1 1.000 2.000 3.000 2.000 2.000 2.000 2.000 3.000 0.234 

D2 0.500 1.000 2.000 3.000 4.000 3.000 2.000 3.000 0.213 

D4 0.333 0.500 1.000 3.000 3.000 2.000 1.000 1.000 0.130 

D5 0.500 0.333 0.333 1.000 2.000 2.000 1.000 1.000 0.092 

D6 0.500 0.250 0.333 0.500 1.000 0.500 1.000 0.500 0.060 

D7 0.500 0.333 0.500 0.500 2.000 1.000 0.333 0.500 0.067 

D8 0.500 0.500 1.000 1.000 1.000 3.000 1.000 1.000 0.107 

D9 0.333 0.333 1.000 1.000 2.000 2.000 1.000 1.000 0.097 

CR={0.052072}
*!�+)b(�Y���� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I)D4(

D4 D1 D2 D3 D5 D6 D7 D8 D9 Normalize 
D1 1.000 1.000 1.000 2.000 2.000 3.000 3.000 2.000 0.191 

D2 1.000 1.000 2.000 2.000 2.000 1.000 1.000 3.000 0.179 

D3 1.000 0.500 1.000 3.000 4.000 3.000 3.000 2.000 0.205 

D5 0.500 0.500 0.333 1.000 2.000 1.000 1.000 0.500 0.082 

D6 0.500 0.500 0.250 0.500 1.000 0.500 0.500 1.000 0.061 

D7 0.333 1.000 0.333 1.000 2.000 1.000 1.000 1.000 0.094 

D8 0.333 1.000 0.333 1.000 2.000 1.000 1.000 2.000 0.104 

D9 0.500 0.333 0.500 2.000 1.000 1.000 0.500 1.000 0.084 

CR={0.050006}
*!�+)�c(�Y���� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I )D5(

D5 D1 D2 D3 D4 D6 D7 D8 D9 Normalize 
D1 1.000 1.000 0.500 1.000 0.500 0.500 1.000 1.000 0.089 
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D2 1.000 1.000 0.500 1.000 2.000 2.000 0.500 0.500 0.116 

D3 2.000 2.000 1.000 2.000 3.000 2.000 3.000 2.000 0.226 

D4 1.000 1.000 0.500 1.000 3.000 2.000 2.000 1.000 0.150 

D6 2.000 0.500 0.333 0.333 1.000 1.000 1.000 2.000 0.101 

D7 2.000 0.500 0.500 0.500 1.000 1.000 2.000 2.000 0.120 

D8 1.000 2.000 0.333 0.500 1.000 0.500 1.000 1.000 0.095 

D9 1.000 2.000 0.500 1.000 0.500 0.500 1.000 1.000 0.102 

CR={0.072115}
*!�+)��(�Y���� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I)D6(

D6 D1 D2 D3 D4 D5 D7 D8 D9 Normalize
D1 1.000 1.000 1.000 2.000 2.000 2.000 2.000 2.000 0.185 

D2 1.000 1.000 2.000 0.500 0.500 2.000 2.000 0.500 0.117 

D3 1.000 0.500 1.000 0.500 1.000 1.000 1.000 1.000 0.097 

D4 0.500 2.000 2.000 1.000 2.000 2.000 3.000 3.000 0.196 

D5 0.500 2.000 1.000 0.500 1.000 2.000 2.000 3.000 0.149 

D7 0.500 0.500 1.000 0.500 0.500 1.000 3.000 0.500 0.086 

D8 0.500 0.500 1.000 0.333 0.500 0.333 1.000 0.500 0.061 

D9 0.500 2.000 1.000 0.333 0.333 2.000 2.000 1.000 0.109 

CR={0.068514}
*!�+)��(�� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I�Y�� )D7(

D7 D1 D2 D3 D4 D5 D6 D8 D9 Normalize
D1 1.000 1.000 1.000 1.000 2.000 2.000 2.000 2.000 0.158 

D2 1.000 1.000 0.500 0.500 1.000 2.000 1.000 2.000 0.114 

D3 1.000 2.000 1.000 3.000 4.000 1.000 0.500 2.000 0.186 

D4 1.000 2.000 0.333 1.000 1.000 1.000 2.000 3.000 0.148 

D5 0.500 1.000 0.250 1.000 1.000 1.000 0.500 0.333 0.074 

D6 0.500 0.500 1.000 1.000 1.000 1.000 0.500 1.000 0.090 

D8 0.500 1.000 2.000 0.500 2.000 2.000 1.000 2.000 0.145 

D9 0.500 0.500 0.500 0.333 3.000 1.000 0.500 1.000 0.085 

CR={0.083872}
*!�+)��(�Y���� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I )D8(

D8 D1 D2 D3 D4 D5 D6 D7 D9 Normalize

D1 1.000 2.000 2.000 1.000 1.000 1.000 2.000 0.500 0.148 

D2 0.500 1.000 2.000 0.500 3.000 2.000 2.000 3.000 0.180 

D3 0.500 0.500 1.000 0.500 1.000 1.000 1.000 1.000 0.087 

D4 1.000 2.000 2.000 1.000 2.000 2.000 2.000 0.500 0.169 

D5 1.000 0.333 1.000 0.500 1.000 0.500 0.500 0.500 0.072 

D6 1.000 0.500 1.000 0.500 2.000 1.000 1.000 1.000 0.103 

D7 0.500 0.500 1.000 0.500 2.000 1.000 1.000 1.000 0.095 

D9 2.000 0.333 1.000 2.000 2.000 1.000 1.000 1.000 0.146 

CR={0.069274}
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*!�+)�d(�Y���� 
� �+!@ %)�
&� �2 
3�
�P� ��_(I)D9(
D9 D1 D2 D3 D4 D5 D6 D7 D8 Normalize
D1 1.000 1.000 1.000 2.000 0.500 0.500 2.000 2.000 0.125 

D2 1.000 1.000 1.000 1.000 1.000 0.500 0.500 0.500 0.092 

D3 1.000 1.000 1.000 1.000 2.000 0.500 1.000 1.000 0.122 

D4 0.500 1.000 1.000 1.000 0.500 0.500 0.500 1.000 0.080 

D5 2.000 1.000 0.500 2.000 1.000 1.000 2.000 3.000 0.165 

D6 2.000 2.000 2.000 2.000 1.000 1.000 4.000 3.000 0.222 

D7 0.500 2.000 1.000 2.000 0.500 0.250 1.000 2.000 0.110 

D8 0.500 2.000 1.000 1.000 0.333 0.333 0.500 1.000 0.083 

CR={0.062118}

}$-�A% 2=� ����� �@1+ X�^��W��� X�"Q �<����� .2�0 �� X�^��W� �0,C	
6�<��=C� �0,C	 $� $7N����0� �>�^� $4T^� . Y��0� �#��� 60�� �#�#0 ��=C� $� $B �|�. +0

�(0� Y=<0"G A=� �@1+ $^��W� p��	�� $� 0�4 .$-�A% !�1,;� &��( V=W;	 ��"� 6�<
$=(�N 1 6A/���� ���=� 1 60 �"B�� p��	�� $� 60�� 2�0���-�  ,(��I��@1+ $^��W� 

�(0� Y=<0"G .� 2�0 A�)���� F"�# �0,90F"�# �4�\ �� p��	�# �	 Y|-� 6�<=��0 Y<�A
$� F1+"��� p��	���"( �� !��� ��B .Y<� F"�# �� ��+ p��	�� A�)���� F"�# �0,90 r~��

�-C� F1+"��� p��	�� )D1 (�#0 !,<�]� &��\.
*!�+)�\(G;
6 �+!@ %)�
&�D1 A��

�2!���%P'
e� 2��� �
3 
*!�+)�c(G;
6 �+!@ %)�
&�D6 �2!��� A���
3

%P'
e� 2��� 
D1 Central~Informa~ Middle Normalize D6 Central~ Informa~ Middle Normalize

Central~ 1/000 3/000 1/000 0/443 Central~ 1/000 0/333 1/000 0/210 

Informa~ 0/333 1/000 0/500 0/169 Informa~ 3/000 1/000 2/000 0/550 
Middle 1/000 2/000 1/000 0/387 Middle 1/000 0/500 1/000 0/240 

CR=0.014 CR=0.015

*!�+)�^(G;
6 �+!@ %)�
&�D2 A��
�2!���%P'
e� 2��� �
3 

*!�+)��(G;
6 �+!@ %)�
&�D7 �2!��� A���
3
%P'
e� 2��� 

D2 Central~Informa~ Middle Normalize D7 Central~ Informa~ Middle Normalize
Central~ 1/000 3/000 0/500 0/320 Central~ 1/000 2/000 2/000 0/500 
Informa~ 0/333 1/000 0/250 0/122 Informa~ 0/500 1/000 1/000 0/250 

Middle 2/000 4/000 1/000 0/558 Middle 0/500 1/000 1/000 0/250 
CR=0.018 CR=0.001

*!�+)�`(G;
6 �+!@ %)�
&�D3 A��
�2!���%P'
e� 2��� �
3 

*!�+)��(G;
6 �+!@ %)�
&�D8 �2!��� A���
3
%P'
e� 2��� 

D3 Central~Informa~ Middle Normalize D8 Central~ Informa~ Middle Normalize
Central~ 1/000 1/000 1/000 0/327 Central~ 1/000 0/333 0/500 0/169 
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Informa~ 1/000 1/000 0/500 0/260 Informa~ 3/000 1/000 1/000 0/443 
Middle 1/000 2/000 1/000 0/413 Middle 2/000 1/000 1/000 0/387 

CR=0.052 CR=0.015

*!�+)�a(G;
6 �+!@ %)�
&�D4 A��
�2!���%P'
e� 2��� �
3 

*!�+)��(G;
6 �+!@ %)�
&�D9 �2!��� A���
3
%P'
e� 2��� 

D4 Central~Informa~ Middle Normalize D9 Central~ Informa~ Middle Normalize
Central~ 1/000 2/000 0/333 0/238 Central~ 1/000 0/250 0/333 0/126 
Informa~ 0/500 1/000 0/250 0/137 Informa~ 4/000 1/000 1/000 0/458 
Middle 3/000 4/000 1/000 0/625 Middle 3/000 1/000 1/000 0/416 

CR=0.018 CR=0.006

*!�+)�b(G;
6 �+!@ %)�
&�D5 A��
�2!���%P'
e� 2��� �
3 

D5 Central~Informa~ Middle Normalize
Central~ 1/000 0/500 0/500 0/196 
Informa~ 2/000 1/000 0/500 0/311 
Middle 2/000 2/000 1/000 0/493 

CR=0.05

)1 $�A|	 �� p��	�� ��0 &=J]	 !�0� &=7;	�<:(

!�0� ���8	2�0 +0 p� �@1+ X�^��W� p��	�� &G0� 6�<  ,�,�.�� A�)���� &J( $� $B
� $=410 p��	����0 Z1,@ �4�\ ��[�� $Unweighted matrix�� !��1.,�"( .

��
�6 *!�+)�d(�!@��
9 ]��I
���� 
Unweighted Central~ Informa~ Middle D1 D2 D3 D4 D5 D6 D7 D8 D9 Strateg~
Central~ 0/000 0/000 0/000 0/443 0/320 0/327 0/238 0/196 0/210 0/500 0/169 0/126 0/000 
Informa~ 0/000 0/000 0/000 0/169 0/122 0/260 0/137 0/311 0/550 0/250 0/443 0/458 0/000 
Middle 0/000 0/000 0/000 0/387 0/558 0/413 0/625 0/493 0/240 0/250 0/387 0/416 0/000 

D1 0/000 0/000 0/000 0/000 0/178 0/234 0/191 0/089 0/185 0/158 0/148 0/125 0/191 
D2 0/000 0/000 0/000 0/090 0/000 0/213 0/179 0/116 0/117 0/114 0/180 0/092 0/072 
D3 0/000 0/000 0/000 0/265 0/318 0/000 0/205 0/226 0/097 0/186 0/087 0/122 0/256 
D4 0/000 0/000 0/000 0/140 0/113 0/130 0/000 0/150 0/196 0/148 0/169 0/080 0/079 
D5 0/000 0/000 0/000 0/059 0/080 0/092 0/082 0/000 0/149 0/074 0/072 0/165 0/054 
D6 0/000 0/000 0/000 0/045 0/043 0/060 0/061 0/101 0/000 0/090 0/103 0/222 0/031 
D7 0/000 0/000 0/000 0/189 0/057 0/067 0/094 0/120 0/086 0/000 0/095 0/110 0/118 
D8 0/000 0/000 0/000 0/106 0/099 0/107 0/104 0/095 0/061 0/145 0/000 0/083 0/040 
D9 0/000 0/000 0/000 0/105 0/112 0/097 0/084 0/102 0/109 0/085 0/146 0/000 0/160 

Strateg~ 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 

� F"�# �� F1+"��� p��	����0 2�0 ,C� $7N�� �� !��8( Z1,@ +0 &Q�N A�)���)b(
�� ��+ F1+"� p��	����0 &Q�N $B  �"( �� f�D,(��.
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Weighted Central~ Informa~ Middle D1 D2 D3 D4 D5 D6 D7 D8 D9 Strateg~

Central~ 0/000 0/000 0/000 0/222 0/160 0/164 0/119 0/098 0/105 0/250 0/085 0/063 0/000 
Informa~ 0/000 0/000 0/000 0/085 0/061 0/130 0/068 0/155 0/275 0/125 0/222 0/229 0/000 
Middle 0/000 0/000 0/000 0/194 0/279 0/206 0/313 0/247 0/120 0/125 0/194 0/208 0/000 

D1 0/000 0/000 0/000 0/000 0/089 0/117 0/096 0/045 0/092 0/079 0/074 0/063 0/191 
D2 0/000 0/000 0/000 0/045 0/000 0/106 0/089 0/058 0/059 0/057 0/090 0/046 0/072 
D3 0/000 0/000 0/000 0/133 0/159 0/000 0/102 0/113 0/049 0/093 0/043 0/061 0/256 
D4 0/000 0/000 0/000 0/070 0/057 0/065 0/000 0/075 0/098 0/074 0/084 0/040 0/079 
D5 0/000 0/000 0/000 0/030 0/040 0/046 0/041 0/000 0/074 0/037 0/036 0/082 0/054 
D6 0/000 0/000 0/000 0/022 0/022 0/030 0/031 0/051 0/000 0/045 0/052 0/111 0/031 
D7 0/000 0/000 0/000 0/095 0/029 0/033 0/047 0/060 0/043 0/000 0/047 0/055 0/118 
D8 0/000 0/000 0/000 0/053 0/049 0/053 0/052 0/048 0/031 0/073 0/000 0/042 0/040 
D9 0/000 0/000 0/000 0/053 0/056 0/049 0/042 0/051 0/054 0/042 0/073 0/000 0/160 

Strateg~ 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 

0 �G. [�% ��[�� �;	 F1+"��� p��	���� �0A�0SuperdecisionsF. $� �,\�� F0"	 ,#�
$�  p��	�� �40"�� �Q�-9 F�=� X1�U	 $B ���@ �	 p��	�� ��0 �Q�-9 2=� �	1�U	 $B 6�"*

 F0"	 $�kp��	�� ��0 �� k+1,(�E� .$� !,( �1,;� p��	����0 $7N�� 2�0 ���� �#�,�. .
F�8<�� !,<�]� $B �"*(�� ��0�� �<�t# �0,90 ���8	 $7Q�N p��	����0 �� �",(�� .��

F0A=� $� ���=� !�1,;� 60�� �	�� ��"410 p��	����0 2�0�,I�i$�1  �#0 !,�. �#�
��"41034�5 6,-�$� �"@"� 6�<!�1,;� F�=� �� !,89 �"*�#0 !,<�]� &��\ �<.

*!�+)�^(��
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Limited Central~ Informa~ Middle D1 D2 D3 D4 D5 D6 D7 D8 D9 Strateg~
Central~ 0/000 0/000 0/000 0/148 0/148 0/148 0/148 0/148 0/148 0/148 0/148 0/148 0/148 
Informa~ 0/000 0/000 0/000 0/138 0/138 0/138 0/138 0/138 0/138 0/138 0/138 0/138 0/138 
Middle 0/000 0/000 0/000 0/215 0/215 0/215 0/215 0/215 0/215 0/215 0/215 0/215 0/215 

D1 0/000 0/000 0/000 0/073 0/073 0/073 0/073 0/073 0/073 0/073 0/073 0/073 0/073 
D2 0/000 0/000 0/000 0/063 0/063 0/063 0/063 0/063 0/063 0/063 0/063 0/063 0/063 
D3 0/000 0/000 0/000 0/083 0/083 0/083 0/083 0/083 0/083 0/083 0/083 0/083 0/083 
D4 0/000 0/000 0/000 0/060 0/060 0/060 0/060 0/060 0/060 0/060 0/060 0/060 0/060 
D5 0/000 0/000 0/000 0/042 0/042 0/042 0/042 0/042 0/042 0/042 0/042 0/042 0/042 
D6 0/000 0/000 0/000 0/038 0/038 0/038 0/038 0/038 0/038 0/038 0/038 0/038 0/038 
D7 0/000 0/000 0/000 0/047 0/047 0/047 0/047 0/047 0/047 0/047 0/047 0/047 0/047 
D8 0/000 0/000 0/000 0/046 0/046 0/046 0/046 0/046 0/046 0/046 0/046 0/046 0/046 
D9 0/000 0/000 0/000 0/047 0/047 0/047 0/047 0/047 0/047 0/047 0/047 0/047 0/047 

Strateg~ 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 0/000 
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Ranking Ideal Normal Total Alternatives Graphic 
20.6872 0.2950 0.1475 Central Area 
30.6421 0.2757 0.1378 Informal Area 
11.0000 0.4293 0.2147 Middle Area 
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